BHCC MAT-094 Common Midterm Exam Grading Rubric   3/3/11

Each problem on the midterm exam will receive a point value according to the criteria below:

5 points:   Full use of appropriate procedures, 100% correct answer
4 points:  Full use of appropriate procedures, but a very slight error is made that prevents student from reaching the correct answer

3 points:  Partial use of appropriate procedures; incorrect answer given; student is unable to carry out a procedure completely, but more than 50% of work is correct
2 points:  Minimal use of appropriate procedures; incorrect or missing answer; student’s work is less than 50% correct

1 point:  Lacks use of appropriate procedures; incorrect answer; student misinterprets problem

0 points:  Problem is left blank; no attempt is made to solve the problem

	Question
	0 points
	1 point
	2 points
	3 points
	4 points
	5 points

	1
	blank
	Student’s first step is not consistent with the order of operations 
	Student’s first step is consistent with the order of operations, but the second step is not (overall work less than 50% correct)
	-
	Student correctly follows the order of operations, but makes one arithmetic error that results in incorrect answer
	Correct answer is given

	2
	Blank
	Not left blank, but response demonstrates no knowledge of how to simplify the expression 
	Student applies the distributive property, but makes multiple sign errors in doing so
	Student applies the distributive property correctly, but makes multiple errors in combining the resulting like terms
	Student correctly applies the distributive property, but makes a single error in combining one pair of like terms
	Work is 100% correct


	Question
	0 points
	1 point
	2 points
	3 points
	4 points
	5 points

	3
	blank
	Not left blank, but student’s first step is incorrect
	Student correctly applies distributive property on right side of equation, but remaining work is incorrect
	Work is correct, but student misinterprets result (e.g., writes “no solution” instead of “all real numbers are solutions”)
	-
	Student correctly solves the equation

	4
	blank
	Not left blank, but student fails to correctly apply distributive property in first step
	Student correctly applies distributive property on both sides of equation, but overall work is less than 50% correct
	Student correctly applies distributive property on both sides of equation, but more than a single sign or arithmetic error is made (work is at least 50% correct)
	Student work is correct aside from a single sign error or single arithmetic error that results in incorrect solution
	Student correctly solves the equation

	5
	blank
	Not left blank, but no work is correct
	Student multiplies both sides of equation by the appropriate constant, but makes an error in doing so
	Student correctly multiplies both sides of equation by the appropriate constant, but makes an error thereafter
	-
	Student correctly solves the equation

	6
	blank
	Not left blank, but demonstrates no understanding of how solve problem
	Student attempts to set up problem using an equation, but does so incorrectly
	Student sets up problem correctly, but makes more than 1 error in solving
	Student sets up problem correctly, and makes only 1 error in solving 
	Student correctly solves problem

	7
	blank
	Not left blank, but demonstrates no understanding of how solve problem
	Student attempts to write an equation for the problem, but does so incorrectly
	
Student writes and correctly solves an equation for the problem, but correct measurements are not given for either angle 
	Student writes and correctly solves an equation for the problem, but provides only one correct measurement 
	Student correctly solves problem


	Question
	0 points
	1 point
	2 points
	3 points
	4 points
	5 points

	8
	blank
	Not left blank, but demonstrates no understanding of how to solve the problem
	Student demonstrates minimal knowledge of how to solve problem (e.g., attempts to set up a table or equation, but does so incorrectly) 
	Student produces a correct equation for the problem, but makes more than 1 error in solving it (at least 50% of work is correct)
	Student produces a correct equation for the problem, but makes 1 error in solving it
	Student correctly solves problem

	9
	blank
	Not left blank, but demonstrates no understanding of how to solve the problem
	Student demonstrates minimal knowledge of how to solve problem (e.g., attempts to set up a proportion, but does so incorrectly)
	Student sets up proportion correctly, but makes significant error in solving it
	Student sets up proportion correctly and shows knowledge of how to solve it, but a slight error produces an incorrect answer
	100% correct answer

	10
	blank
	Not left blank, but demonstrates no understanding of how to evaluate the expression
	Student substitutes the given value for the variable, but all work thereafter is incorrect (3 or more errors)
	Student substitutes for the variable and simplifies, but makes two distinct errors in doing so
	Student substitutes for the variable and simplifies, but makes a single error that produces an incorrect answer
	100% correct answer

	11
	blank
	Not left blank, but demonstrates no understanding of how to solve the problem
	Student applies the appropriate operation to both sides of the equation, but does so incorrectly
	Student correctly applies the appropriate operation to both sides of the equation, but work thereafter is incorrect
	-
	100% correct answer


	Question
	0 points
	1 point
	2 points
	3 points
	4 points
	5 points

	12
	blank
	Not left blank, but student does not correctly apply the distributive property to the left side of the inequality
	Student correctly applies the distributive property to the left side of the inequality, but overall work is less than 50% correct
	Student correctly applies the distributive property to the left side of the inequality, and makes no more than 2 errors thereafter (work is 50%+ correct)
	Student correctly solves the inequality, but makes a single error in graphing only (e.g., shades the wrong way) –or- the only error is not reversing the inequality symbol (student’s solution matches the graph)
	Student provides correct solution and graph

	13a,b,c
	No ordered pairs are correctly plotted
	-
	1 out of 3 ordered pairs are correctly plotted
	2 out of 3 ordered pairs are correctly plotted
	-
	All ordered pairs correctly plotted

	14
	blank
	Student constructs table of ordered pairs but all are incorrect
	Student’s work is 40% correct (instructor’s discretion)
	Student’s work is 60% correct (instructor’s discretion)
	One slight error is made (e.g., correct table, but makes a slight error in plotting one point that leads to an incorrect graph 
	Both table of ordered pairs and graph of line are correct

	15a,b,c
	At least 2 parts left blank
	0 out of 3 parts are answered correctly, but no more than 1 is left blank
	1 out of 3 parts are answered correctly
	2 out of 3 parts are answered correctly
	-
	All answers are correct


	Question
	0 points
	1 point
	2 points
	3 points
	4 points
	5 points

	16a,b
	Both parts blank
	Not left blank, but answers to both parts are incorrect
	Neither part (a) nor part (b) are fully correct, but work demonstrates some knowledge of “intercepts” or graphing a line
	Student correctly identifies intercepts, but a mistake is made in plotting the points and creating the line
	-
	
Student correctly identifies intercepts and uses them to create a correct graph

	17
	blank
	Not left blank, but student does not use a correct method to find the slope
	Student misrepresents slope formula (i.e., subtracts coordinates in incorrect order)
	Student correctly uses slope formula, but an arithmetic error leads to incorrect answer
	Only one slight error is made (e.g., student omits a single negative sign when applying the slope formula)
	Student finds correct slope

	18
	blank
	Not left blank, but no knowledge of how to find the equation is demonstrated
	Student uses slope-intercept or point-slope formula, but does not substitute correct values 
	Student uses a correct formula but makes errors after substituting correctly
	Student uses a formula correctly but makes a slight error at the end that results in an incorrect equation, or does not leave the equation in slope-intercept form
	Student identifies the correct equation in slope-intercept form


	Question
	0 points
	1 point
	2 points
	3 points
	4 points
	5 points

	19
	blank
	Not left blank, but no knowledge of how find the equation is demonstrated
	Student attempts to find the slope, but makes errors in doing so
	Student correctly identifies the slope, but makes an error in using the slope-intercept or point-slope formula
	Student correctly identifies the slope, but makes a slight error at the end that results in an incorrect answer, or does not leave the equation in slope-intercept form
	Student identifies the correct equation in slope-intercept form

	20
	blank
	Not left blank, but student demonstrates no knowledge of how to correctly begin solving the problem
	Student’s overall work is less than 50% correct
	Student’s overall work is at least 50% correct
	Student’s overall work is nearly 100% correct, with a single slight error
	100% correct answer
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